Formules trigonométriques

sin?x + cosx = 1

2
cosoe — T sin®x = L 1+ igx = B
1 + tg2x 1 + tgx COS2X
sin(n — x) = sin x sin(n + x) = — sinx sin (—x) = — sinx
cos(mn — X) = — cos X cos(m + X) = — cos X cos (—X) = COS X
tg(rn —x) = — tgx tg(r + x) = tg x tg(—x) = — tgx
T = T i
sin(z — x) = cosX sin(z + x) = CcOSs X
cos @ —x) = sinx cos T + x) = — sinx
tq (& o ol i
g (z — x) = cotg x tgG + X) = — cotg x
sin(Xx + y) = sinxcosy + cosxsiny tgx + tgy
: E : tg(x +y) =
sin(x —y) = sinxcosy —cos xsiny 1—tgxtgy
COS (X + y) = cos x cos y — sin x siny tg(x —y) = tgx —tgy
Cos (X —Yy) = cosxcosy + sinxsiny 9 o 14+ tgxtgy
sin 2x = 2 sin x cos x 2cos?x = 1 + cos 2x
COS 2X = CO0S2X — Ssin2x 2sin2x = 1 — cos 2x
sin 2x = 2lgx 0052)(:& tg 2x =_2t9x
1 + tg2x 1 4+ tg2x 1 — tg?x
sin 3 x = 3 sin x — 4 sin3x cos 3x = — 3 cos X + 4 cos3x
sinp + sinq = 2 sin Pt cos Bl
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Sl iag . = p=q P+q _ _sin(p+q)
sinp—sing = 2 sin owi CaS s tgp + tgq = 08 p C08 q
o P+q P—q __sin (p—q)
COSp + cosqQ = 2 cos 5 COs : tgp —tgq S coen
cosp —cosq= — 2sin p;—q sin p;q

sinxcosy = % [sin(x+y) + sin (x—y)]
cos x cosy = % [cos(x+Yy) + cos (x—Y)]
sinxsiny = % [cos(x—y) — cos (x +Y)]




